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Bachelor of Business Administration
(Second Semester) EXAMINATION,

May/June, 2020

BUSINESS STATISTICS
v (108) -
Time : Three Hours
Maximum Marks : 90
Minimum Pass Marks : 32
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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Define Statistics and discuss their scope and limitations.
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State the meaning of secondary data. What precautions

should be taken before using secondary data for further
investigation ?
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14—15 6
16—17 14
18—20 15
21—24 11
25—29 11
30—34 10
35—39 9
Find mode of the following frequency distribution :
Class Frequency !
14—15 6
16—17 i4
18—20 , 15
21—24 11
25—29 11
30—34 .10
35—39 LI
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20 80
30 74
40 64
50 48
60 30
70 18
80 2.
Calculate median of the following frequency distribution :
Marks (More than) No. of Persons
20 80
30 74
40 64
50 48
60 o 30
70 18
30 8
TIE—3
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3. r=feRaa smgRy fawer &1 s fEe s Sif :
aor (fem. #) AR B w=
0—10 6
10—20 : 10
20—30 20
30—40 9
40—50 5
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Calculate standard deviation for the following frequency

distribution :
Weight (in kg) No. of Bags
0—10 6
10—20 10
20—30 20
30—40 9
40—50 5
Ay
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20 <
30 14 .
40 30
50 60
60 75
70 85
80 92
90 97
100 100

(A-68)




'

[5] DD-978

From the data given below, find Karl Pearson’s
coefficient of skewness :

Marks (Less than) Frequency
20 7
30 14
40 30
50 60
60 75
70 85
80 92
90 97
100 100
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What do you understand by Karl Pearson’s correlation
coefficient ? Discuss briefly its merits and limitations.
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10—20 120 100
20—30 100 75
30—40 80 60
40—50 60 40
50—60 40 25
60—70 15 10
70—80 8 4
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Calculate Karl Pearson’s correlation coefficient between
Age and literacy from the data given below :

P Total Population | Literate Population
in lakhs (*000) in lakhs (*000)

10—20 120 100
20—30 100 7
30—40 80 60
40—50 60 ° 40
50—60 40 25
60—70 15 10
70—80 8 4
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5. f=faiaa sifeel @ fheR @1 ameyl |3 ERT 2010 @

AR W 2017 &7 PEa Fewme srd ST :

2010 2017

b BT AT EALG HET
A 12 100 20 10
B 4 200 4 240
C 8 120 12 150.
D 20 60 24 50

From the following data find out Price Index Number by
Fisher’s Ideal formula for 2017 based on 2010 :

2010 2017
Commodity
Price | Quantity | Price | Quantity
A 12 100 20 120
B 4 200 4 240
C 8 120 12 150
D 20 60 24 50
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Calculate the five yearly moving average for the

following time series :

a¥ (Year) T (Price)
1 55
9 52
3 49
4 53
: 5 54
6 60
7 57
8 55
9 57
10 61
11 65
12 64
13 61
14 59
15 65
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